Q.P. Code - 56511

Second Year M.A. Degree Examination, OCTOBER/NOVEMBER 2015
(Directorate of Distance Education)
Economics

(DPB 510) Paper V - MACRO ECONOMIC THEORY
Time : 3 Hours| [Max. Marks : 70/ 80

Instructions to Candidates :
0903 Ber&rt Zeesddned :

1) Students who have attended 30 marks I-A scheme will have to answer for
total of 70 marks.
30 &ozY 20355 5%’301)@01)62 2003 39 PENSL 70 eosn'y It evgdzeseso.

2) Students who have attended 20 marks I-A scheme will have to answer for
total of 80 marks.

20 eosnYy 0305 5&2:301)@01)@2 2000 IR PENSL 80 05T Gt evgdzeseso.

3) Answer any FIVE questions from Section-A (For students under both 70 and
80 marks scheme). Each question carries 14 marks.

I~ B alRY@0R &k ZFNerf evzds (70 X)) 80 o5y H0EA FQSaD
209 PENSIT 8D 0VTI). 73 Z3rf 14 05710,

4) Q. No. 11 in Section-B is compulsory for the students under 80 marks.
80 wosnY FF3aLBALY Ww00S JYPEFML den-2 FIv 11Fab FFaba)
s@aLDN ev3 OS50,

SECTION — A/ 92507 - &

Answer any FIVE of the following questions. All questions carry equal marks :
BINT 0309 WBTR DB BN GUID2. DR BINVIT FBRT WOTNW :

1.  Justify the importance of national income accounting. Explain the concepts used in
the same.

0o Do 0> 59,2590 @5&)&%3&536&353@6&. BBV IR SOTOIVRYTY, HZV2.

2. Give an account of the Classical Theory of Full Employment. What are its
implications?
30BW0D FoPT FpERcE R e %m@oSzSaﬁ%ﬁJ:’gs BBAD. ABT B BENTFeR?

3.  Critically examine Keynes Consumption Function.
Be°Oa0 wRodeen Dows3n) I0zee 3TN 08

4.  Explain Keynes Investment Function. What are its determinants?
30?030 BT VowsST), IS0, BT APaeTFTLh 03307

S. Discuss the emergence of Supply Side Economics. Explain its theoretical propositions.
@ac&% 30038 VPR B emrﬁ:bqu TOOD WU ART %m@o% %@dﬁﬁq}ﬁ% DI,

1 P.T.O.
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6.

10.

11.

Give a critical account of Milton Friedman’s Restatement of the Quantity Theory of
Money.

DOP® EF*TOV TRV BT JOBP AW0IW HTO® ACABE 0T, BTS20,

Analyse the money demand function with the help of Keynes Liquidity Preference
Theory.

3en’ 030 B WROIT AW0IT FTIN0T BT weBT DoWTITY, B L.

Explain the determination of equilibrium rate of interest using IS-LM curve approach.
IS-LM S58es3 DB eRm0 IPosd 35200007 3303008 WRBTE AP T3TY, D302

State and criticise Von Hayek’s Monetary Overinvestment Theory.
D0 BCONTTXT SACOT B BRRBT 203903, D02 303 AIOBE 2.

“Always and everywhere inflation is a monetary phenomenon.” Elaborate.
“ 0denewe S03) GBI HEBIT H LT F0WORAT T BPTHING”". BT20WOD.

SECTION - B/ %R - 9

Compulsory Question for 80 marks scheme only :
80 wozre Iw3od Do RENIT F@aodd T3 :

Answer any ONE of the following questions : 1x10=10
BINT 0dZ)WwTR word I3t GuId3 :

(a) Explain the inverse relationship between inflation and unemployment with the
help of Phillips curve.

»92° IgTeajod FCIN0B BTOYT D03 &)docmzseﬁw SBIAT IBOLE F0WOFITB, IS0
Or/ eog=e

(b) Discuss the working of investment multiplier. What are its implications?
BABT NOLTT 520300 LTT 0T, ToOI WU, YBT AALRBENTCTO?
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Second Year M.A. Degree Examination, OCTOBER/NOVEMBER 2015
(Directorate of Distance Education)
Economics

(DPB 520) Paper VI - INTERNATIONAL ECONOMICS
Time : 3 Hours| [Max. Marks : 70/ 80

Instructions to Candidates :
0903 Ber&rt Zeesddned :

1) Students who have attended 30 marks I-A scheme will have to answer for
total of 70 marks.
30 &o5nY 20307 a’&?p’ﬁai)e?'; 200 I PEMeL 70 eosy I nerf evgdzeses).

2) Students who have attended 20 marks I-A scheme will have to answer for
total of 80 marks.
20 e&ozny 0305 a’&?p’ﬁai)e?'; 2000 o9 PE L 80 eosy I nerf evgdzeses).

3) Answer any FIVE questions from Section-A (For students under both 70 and
80 marks scheme). Each question carries 14 marks.
eTT-Dd & SBALIV Y@ 0R e ZIrerf evgdIO (70 OF) 80 ©o5/Y J0ER

DG I, DN eFAVNIS). 8 I 14 eosried

4) Q. No. 11 in Section-B is compulsory for the students under 80 marks.
80 w&ozny ov’cg)’éai)zéai)q 20005 IYPEND -2 avdy 11dab ZFaba)

s@ DN GUZ O3V,

SECTION — A/ 92507 - &

Answer any FIVE of the following questions. All questions carry equal marks :
BINT adnZ)wense HBd BINRVI GuIDAD. HeR FFNRVI FST 0TI :

1. Explain the meaning and importance of International Economics.
03TV LOD VPETIRT WTE S0 mssam% DI,

2. Discuss the theory of absolute cost advantage.
QoS S5 w&b&ao %m@oS:Saﬁ% T WBE.

3. Explain the opportunity cost theory of international trade.
©030Ta 0 s%mdg 2020AB03 RT3 dz&u%meossm DI,

4.  Critically evaluate the Heckscher-Ohlin theory of international trade.
©030022003) 5300 FIVIIT BTV~ kP TIT AW 03I®), S0ToE 50N TOZeA.

5.  Critically examine the arguments for free trade.
BT DYHITVT BTZINTIS DBRYR), I0TIE ZFmoN TS

1 P.T.O.
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6.

10.

11.

Explain the effects of tariff on international trade with suitable graph.
©030004 0D HYHITT SoeeS 20057Y BOBIBONYT), AAT Beatowsd B 350 0WL0RT JZD2.

Describe the role of international trade on economic development.
83 WISedrtod SoeeS 9030008 DYTITE T BB, SV

Discuss the merits and demerits of Foreign Direct Investment.
DBe8 BeT BABTOD ROTISMOLNIT), WUBER.

Explain the role of WTO in the promotion of international trade.
©0300900d) HITID), FVRIBY, ‘D3 D9 @9T 50308 DI BV, IZ02.

Critically examine the role of SDRs’ in increasing the international liquidity.
©03004 rod BF 30008, Hep039, SDRE 593310, 03¢ Zgzon S08edA.

SECTION - B/ 9%on - ®

Compulsory Question for 80 marks scheme only :
80 wozne ST 3od HYRENIR TE0d I3

Answer any ONE of the following questions : 1x10=10
BINT 039 WOTTR Wwowd FF[E V303 :

(a) Explain the methods of correcting disequilibrium in balance of payments.
300300 8ITIT WRSIZRCOTIB), FOBRROZ APOVNYT), D02
Or/ eog=e

(b) Discuss the purchasing power parity theory.
BPW),S BEod FS030d 2T 03T, BV 2323 2.
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Second Year M.A. Degree Examination, OCTOBER/NOVEMBER 2015
(Directorate of Distance Education)
Economics
(DPB 530) Paper VII - INDIAN ECONOMY

Time : 3 Hours] [Max. Marks : 70/ 80

Instructions to Candidates :
0903 Ber&rt Zeesddned :

1) Students who have attended 30 marks I-A scheme will have to answer for
total of 70 marks.
30 &o5nY 20307 o*a’&?p’ﬁai)@abq?; 2005 39 PEeL 70 eosny It evgdzeseso.

2) Students who have attended 20 marks I-A scheme will have to answer for
total of 80 marks.
20 e&oz1Y 0305 5%’301)@01)62 20005 039 Pe L 80 eosy It evgdzeseso.

3) Answer any FIVE questions from Section-A (For students under both 70 and
80 marks scheme). Each question carries 14 marks.

eI~ & BBADLY QYT 9 ZINLf evgdy (70 0X) 80 051 H0EL
TR 3D I PeNSrf e azOIS). 53 ZZrf 14 057180,

4) Q. No. 11 in Section-B is compulsory for the students under 80 marks.
80 wozny a’%’éai)@ai)cz 2005 QYR ggor-2 avPab 11FaL FFoba)
s@ DN GUZ O3V,

SECTION — A/ 92507 - &

Answer any FIVE of the following questions. All questions carry equal marks :
BINT 039 WBTR DB BRI GUZVD. 2 BINRVIT FBRPT WoTNW :

1. Define economic development and explain its relevance for the less developed
countries.

B@FF&@%@Q@S&)@S&% S03) eﬂm‘,’)q)aadeéﬁeé B@F&@:’g@@&b @m&%goi)ﬁi DI0%0.

2. Explain the role of state in the economic development of backward economies.
3DETIN &oTOYT Be3NnY eﬂz;’)a’baaﬁ ToR 3 D3BE), IO

3.  What do you mean by agricultural productivity and suggest suitable measures to
improve agricultural productivity in India?

B BLIVTTI DOTTERO? 1TTIBY, F& BVIIWTI0DT), BUIL AATHT FOBNYTY, AERD.

4. Do you consider Indian farmers are confronting with rural indebtedness? If so suggest
appropriate measures to overcome from it.

MY,EE FIVNOT 239033 cgjsw acﬁobﬁogmod O ACY) PIDRONTI? HTIMOBT €3 ﬁdozzsoa)ocﬁ
ToTINEL BAT @:briem% 2.

1 P.T.O.
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5.

10.

11.

Critically examine the Industrial Policy in 1991.
19913 3meds Qe80dR), B0ToF 3TN FO8edR.

Explain the different labour market reforms introduced in India.
0339 330 InTTE 0, 2501 AYAT AT BopaTen FToreD), HZ00.

What are the sources of finance for Union government under the provisions of the
Constitution of India?

03T Z0APITHY, 0T, 3T B H TR BOPONYTY, BT BBF3NL 0dZ)3)?

Define Fiscal Policy and explain the fiscal sector reforms introduced in India.

dcdeody Ae3oBY [V B0F) TIBY, Fedead IV0LTY, Frleor BpeTn FIoNW
0dR)R) D3O

Examine the impact of WTO on different sectors of the Indian economy.

270030 SPETI0D AP I0odbnd Soees x)éaay%md s’oﬂeab TS B08eA2.

Write short notes on any TWO of the following :
BINT 0dZ)WoWT0 HVBY, £33 WIOWD

(a)

(b)

()

(d)

Physical Quality Life Index
BT 03T ROER, BUY0T

Privatisation and disinvestment debate
0RNETFTE F03) BABT L0311 w3ese

Parallel economy
ARPWI03T 8PETI

Exports of the Indian economy
9030 sREFI0D TFHYneo

SECTION - B/ %R - 9

Compulsory Question for 80 marks scheme only :
80 wozne ST 3od HYRENIR TE0d I3

Answer any ONE of the following questions :
BINT 0dZ)WwTR word I3t GuId3 :

(2)

(b)

Explain the Centre State financial relations in Indian economy.

030 sPFFIAd Feow,- ooz B TR ,*Jozooz;me:}mcL AR,
Or/ 5=

Outline the problems of small scale sector in India.
03B 38Y FMPOTNY BBZNIT, SO0.

10
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Second Year M.A. Degree Examination, OCTOBER/NOVEMBER 2015
(Directorate of Distance Education)

Economics

(DPB 540) Paper VIII - AGRICULTURAL ECONOMICS - II

Time : 3 Hours| [Max. Marks : 70/ 80

Instructions to Candidates :
0903 Ber&rt Zeesddned :

1) Students who have attended 30 marks I-A scheme will have to answer for
total of 70 marks.

30 &o3TY 50365 c;—)’g’é’ai)éai)ez 2000 I PENSD 70 0571 Gt evgdzeseso.

2) Students who have attended 20 marks I-A scheme will have to answer for
total of 80 marks.

20 eosnYy 0305 5&2:301)@01)@2 2000 IR PENSL 80 05T Gt evgdzeseso.

3) Answer any FIVE questions from Section-A (For students under both 70 and
80 marks scheme). Each question carries 14 marks.

TN~ ¥ eBaLY abeyeroe o FINIf evgdd (70 X)) 80 05Ny S0
z;’%’éai) 0. PENrf @(?’jaﬂ),a’)g’a’). g3 g3rf 14 057780,
4) Q. No. 11 in Section-B is compulsory for the students under 80 marks.

80 o5y TFIAVBANY WIS YR dgn-2) avgab 11dab FFaba)
s@ DN GUZ O3V,

SECTION — A/ 92507 - &

Answer any FIVE of the following questions. All questions carry equal marks :
BINT adnZ)wense HBd BINRVI GuIDAD. HeR FFNRVI FST 0TI :

1.  What do you mean by Crop pattern? Bring out the factors determining the crop
pattern in a country.

S IOW 20BS DR VBF? WoRd BBTE, 3¢ AFOVNYR), AFFORT WoBRveR))?

2.  Give a critical evaluation of the agricultural price policy of the Government of India.
{203 30T0T g W3S dedod &doa@s‘a’@s BROOTR ANTH THRO.

3. Explain the causes of low-agricultural productivity. Suggest measures to increase
agricultural production and productivity in India.

BRD T HVIBFI Fadsaﬁe.}&gl D00, PIT3T T HVITN HaTie emaa@dﬁa’odm% 3%%3300 03
FRRO.

4. Examine the main features of the National Agriculture Policy 2000 of India.
03T Do e0d FA Beeds 20008 300D SRINYD), 500 &BOD.

1 P.T.O.
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5.

10.

11.

Explain the role of State Intervention in Food grain marketing in India.
%99030Y), 5593 7R0N) BPTITE, F33 0309, Tz T 7PN0IRMIATD BB T3 [eDo?

Discuss the nature and status of terms of trade exists between agriculture and
industry in India.

03RS T A Horie DT BRIDT &9HT F0W0PNY 2903 [0 B A30dEY, 3D

Explain the advantages of agricultural cooperative markets in India. Give suggestion
for its improvement.

0309, A 3BTD FTOTES, F3Z 03> ROLNYTY, B0, W)Y eI ZOBRYT), ,LBO.

Give a brief account of rationale and functioning of Public Distribution System in
India.

PoU3T FITE WAT DIV J 33 0b BOFOF Horte TG JBK0d F03H HSTH FRBO.

Write on the significance of surplus mobilisation from agriculture in India.
PITITA, T A0S B30 QHLZF0D 2 230WD.

Discuss the trade off controversy over agricultural markets and marketing efficiency.
B A SPTOTE I [F03) TA B980T 00 AF)eZod B0tk YTOE DT JFeBNY Wik K300

SECTION - B/ 9%on - ®

Compulsory Question for 80 marks scheme only :
80 wozre Iw3od Do RENIT F@aodd T3 :

Answer any ONE of the following questions : 10
BINT 039 WOTTR Wwowd FF[E V303 :

Distinguish between marketed and marketable surplus. Bring out the factors
influencing marketable surplus in an agrarian economy.

IP0EIT B[O BN BI0003 0decr BWIBONY W0ITIT)Y ITORD. FA P03 DIFIFD, FA
S500083 03ReT B20FO0LTY, IFEDRIT 90BTaT))?

Or/ eog=e

Discuss the trends in agricultural subsidisation policy of India. Bring out the causes
and consequences.

PIT3T  TA 732?@033 BRCORODE  BVotsT DT ﬁezﬁorﬁe«iw$~ 3020, VBT BT I
cso—-’o%amsmw% SRR0.
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